Model No.DRT52 CORDLESS TRIMMER




Model No.DRT52 CORDLESS TRIMMER

AME
;I'ZETIOI sKkatudu Aosung LL:TSSTI Susu ::U a ;clwas)wm (T SBj)mﬁa(TH Kuakq 1 KUBLKQ 2

Jasu
001 |266326-2 anstndgoUdaerduan 4X18 4
002 8145G5.1 DRT52 NAME PLATE 1
003 1830K8.-7 HOUSING SET 1
C10 |263005.3 aaneo 6 2
D10 INC. 7
004 620P27-6 SWITCH CIRCUIT 1
005 141V04.6 SWITCH PLATE COMPLETE 1
006 8145G6-9 DRT52 SERIAL NO. LABEL 1
007 1830K8-7 HOUSING SET 1
C10 263005-3 danev 6 2
D10 INC. 3
008 643874.2 UHdaany 1
009 620P26-8 CONTROLLER 1
010 |e52119.7 ansnauyu M2X6 6
011 629C71-2 STATOR 1
012 210017-7 uoalusy 607DDW 1
013 519858.-1 ROTOR ASSEMBLY 1
D10 INC. 12,14
014 |211236.8 Uaaludy 6002DDW 1
015 267785-3 uKoumau 23 1
016 141Vv03.8 OUTER HOUSING COMPLETE 1
017 [266326.2 angindgoUdoskouan 4X18 4
018 |763663.0 AS28kYSU 6.35 1
019 |763661.4 Goarkdu 6 1
020 252652-5 Goalakyu M5 1
021 [941101.4 wkaUS: 5 1
022 226217-9 1Woavasy 16 1
023 |265771.8 angkoUauu M5X33 1
024 |265763.7 angkoUauu MEX25 1
025 |[941151.9 WKoUSLU: 6 1
026 4191384 U 1
027 |410585.2 uWudavAugiu 1
028 |265142.9 ansonauyu M4X10 4
029  1194267-1 yadaygaus=AduULASDLAOKE LU 1

uaedu

D10 INC. 20-28
A0l |122703-7 yaduus=AdUSIUUILEY 1
Cl0 (2514716 anskouuuwnuubul M5 1
C20 265135-6 anskolaas M4X10 1
C30 265763-7 anskwuauuu M6X25 1
C40 265764.5 anskiodauuu M6 1
C50 [317788.8 REacou 1
C60 324378.0 gnadv 11 1
C70 341136-9 valfed 1




C80 |941151.9 UKoUY= 6

A02  [122704-5 yaduus:npusvUUIASY
C10 252649.4 ﬁamﬁahqu M6

C20 |[266339-3 TuacdinalkdeuRouuu M6X20
C30 |343593.7 Tndwan

A03 [191Y82.4 gaaanainuasw 6E

A04 (3435775 uudwguuu 10

A05 781036-5 Us:up 10

A06 781037-3 Us:zup 17

A07 4186470 Adatrulld

nsfu1s:yskatuadulijododo

wu

W

J

u

n

07/06/2567



